, i B i

71

J[EUMATIC AND H
YLINDER SERIES

LIC

> H SERIES

claLl L/ [LLLILal ,,n
yh.' //}/}..4:;.‘1)./1{ fus o " /) HIGH SPEED THROUGH-HOLE ROTARY HYDRAULIC
CYLINDER

NRIEE R LhEMERHIR, FIRAE (MAXISmMmERE ) , BE (MA

X4.5kgi el ) BEREISHNERERE, ERTHMNAE,
CEARMBET: kEUENHSRATRS20%MNETEL, ATEERRNEED

FEAEIER

REWE: BLEEMOARERFEINESE,

Compact and light weight :
Comparing with the regular product, it is compact (reduced to MAX 95mm)
and lighter (weighted MAX 4.5kg).

It's more stable to reduce the burden of the machinery at high speed turning.
The largest bore : Comparing with the regular product, it has about 20% larger
bore diameter forutilizing the capacity of machinery.

= The safety structure : It can retain the gripping force by check valve.

I31LVINO

25 F'iizgnE D% ﬁgoffr?aﬁlfr;ﬁj Ma? [?';imizﬁ?ﬁgﬂefgﬁigﬂ Piﬁ:;ng{s‘{vﬁe Max. gpﬁffﬁi%gssure BB EiE ﬂ-ﬂzaﬁ W%ight Tm;ai Ea%aga
Model (mm)  push Side / Pull Side Push Side  Pull Side {mm) MPa(kgt/ cm’) maxr.p.m - kg-m’ (kg) Limin
H-0928 90 53.2/48.3 19.9(2029) / 18(1835) 10 4.0 (40.8) 8000  0.006 5.5 3
H-1036 105 71/68.5 26(2651) / 25(2549) 15 4.0 (40.8) 8000  0.011 8.6 H
H-1038 105 71/66 26(2651) /24.5(2498) 15 4.0(40.8) 8000  0.011 8.5 3
H-1236 125 100/89 38(3875) / 33(3365) 15 4.0(40.8) 7000  0.019 13 3
H-1246 125 100/89 38(3875) / 33(3365) 15 4.0(40.8) 7000  0.019 12 3 (@) ]
H-1546 155 161/154 60(6118) /57.8(5894) a2 4.0 (40.8) 6200  0.056 18 3.9 -—
H-1552 155 161/150 60(6118) /56(5710) 22 4.0 (40.8) 6200  0.052 16.8 3.9 —
H-1868 180 198/197 74(7546) [ 73.5(7495) 25 4.0 (40.8) 4700  0.098 28 4.2
H-1870 180 198/183 74(7546) / 69(7036) 25 4.0(40.8) 4700 0.095 26.5 4.2 |_u
H-1875 180 198/183 4(7546) / 69(7036) 25 4.0 (40.8) 4700  0.095 26 4.2
H-1878 180 198/183 74(7546) / 69(7036) 25 4.0 (40.8) 4700  0.095 25.5 4.2 (D
y — Ly X H-2078 205 262 /234 98(9993) / 88(8973) 23 4.0 (40.8) 3800 0.15 365 45
*. i I H-2085 205 252/ 234 94(9585) / 88(8973) 30 4.0 (40.8) 3800 P 45 <
v [ y 4 A\ H-2091 205 252234 94(9585) / 88(8973) 30 4.0 (40.8) 3800 015 37 4.5 (a
H-2511 250 348/336 124(12644) / 120(12236) 23 4.0 (40.8) 2800 0.45 57 7

NEUMATIC AND HYDRAULIC oils s aeaarea  loa(rmeeoz(ons s Ao(s) a0 i1z sa o
CYLINDER SERIES

c RERHELMER, BRBTEM Subjectto technology changes without prior information
+ EEEKAFTH Non-standard requirements can be made




R, il JER i

71

J[EUMATIC AND H
YLINDER SERIES

LIC

> HK SERIES
SHORTTYPE ROTATING HYDRAULIC

e e ) oy 25 o G S TR T () :
N= b oe PN A ATRY 1P = LA /

. . . ﬁ;-’,-’i Uep e [ ﬂ"; ia/}/,,/ﬂ (SDKIE:ENT%E[I;QEVJIIEI;THROUGH HOLE AND

R1 Y /

i
- R, ATLEREEE, &RESEREN2/,
O R AERE B SRS R B R R
- O RECHFA BRIEREEE
! L = = - Super short form,light weight large Through-Hole,just as 2/3 of typical
H model length.
I © Built-in safety check valves and pressure relief valves.

W
AN

@E (H7)
2u1

~ Forward and backward choose a fixed installation.

[ /0 [ )
M _______\\ ______ DU S P A
E1 /

2
M
©
S
@M1
=
@
[=]€]
@F
@D
@C

& AL 0
6-X2 — f’n— =
T e e
% o PT 4" il }:E
I 2| (HD928 PT3/4") K1 a 3 = ,:_’\:g: |
@!33 1 I i I I "E"‘_ e e e e
AB 2
B® A B C1 E F1 | E | et e v e e e PR s o B -
Model 62
H-0928 © 108 25 8-MGx10 6 M8x15 110 76 58 44 15 34 53 4 4Mx7 5 PT1/4 6 116 M35 32 15 i
H-1036 11 1205 25 6-M5x10 6-M1Ox17 126 8388 68 53 15 38 64 4 6Ms12 5 PT3/8 6 136 M5 42 14 ==
H-1038 11 1205 25 6-M5x10 6-MIOx17 126 88 68 53 15 40 64 4 6Ms12 5 PT3/8 6 136 M5 42 14 gt |l =
H-1236 11 1265 25 6-M6x12 12-M10x20 135 98 76 47 15 38 76 4 4Msx12 6 PT1/2 6 169 Ms2d15 50 14 Dron Port 5
H-1246 11 1265 30 6-MGx12 12-M10x20 135 98 76 47 15 50 76 4 4-M5x12 6 PT1/2 6 169 Ms215 50 14 033 >
H-1546 11 1335 30 6-M6x12 12-M10x20 145 110 86 47 15 50 8 4 4Mexi2 7 PT1/2 6 188 Ms8x15 56 135
H-1552 11 1335 30 6-M6x12 12-M10x20 145 110 86 47 15 55 8 4 4Mex12 7 PT1/2 6 188 Ms8x15 56 135
H-1868 175 1525 35 6-M6x12 12-M10x20 1665 155 101 47 15 70 108 4 4-Méx12 75 PT1/2° 6 215 M8 81 125 tiSpec  TRIEMH Eff.piston area cm’ EEEsE Max_%pfr‘gi%%gssm GD', o i € ¥t (kg) O
H-1870 175 1525 35 6-MGx12 12-M10x20 1665 155 101 47 15 75 108 4 4-Mex12 75 PT1/2 6 215 Mah2 81 125 BgkModel M Extend 4l Retract max r.p.m MPa(kgf / om?) kg m Lit./min. Weight
H-1875 175 1525 35 6-M6x12 12-M10x20 1665 145/155 101 47 15 80 108 4 4-Méx12 75 PT1/2 6 215 Mah@ 81 125 T 55 5 e SiiFo 3.5(35) H68 50 5 g
H-1878 175 1525 35 6-MGx12 12-M10x20 1665 155 101 47 20 82 108 4 4-Mex12 75 PT1/2 6 215 Mah2 81 125 ST o e o T . =
H-2078 21 1665 35 6-M6x12 12-M12x24 182 165 110 47 20 8 120 4 4-Méx12 7 PT1/2 6 240 MO9x2 96 20 R o s sy G o i >
H-2085 21 1665 35 6-M6x12 12-M12x24 182 165 110 47 20 89 120 4 4-Méx12 7 PT1/2 6 240 MI9x2 96 13 HK-1246(S) an T 7000 006 30 o7
H-2091 21 1665 35 6-M6x12 12-M12x24 182 165 110 47 15 95 120 4 4-Mexi2 7 PT1/2' 6 240 M99x2 96 13 HK-1552 135 3 125.0 6500 4.0(40) 0.11 39 1.8
H-2511 27 1845 45 6-M6x12 12-M16x32 197 206/215 123 55 20 123 160 5 4-Méx12 7 PT1/2 6 294 - 1346 - TS oy e Snan e e TS m
H-25115 21 1695 45 6-M6x12 12-M16x32 192 206 132 55 20 123 160 5 4-Méx12 7 PT1i/2 6 294 - 1346 - HK1875(8)  179.5 e i b s S8
H-2416 20 2025 45 6-Méx12 6-MI6x32 2105 - 1605 46 20 170 240 2 4-MBx12 55 PT1/2 6 345 M74x2 171 44 : : : : : cos
<% Size E G1 G2
ISR c D E E G H a0 B T S B e (N u Y % w w X 7 B8k Model g & B e F max min max min H A & Ll = LU M2 | e
Model max. min. max min.
- HK-0928 90 126 100 108 80 40 10 23 13 53 88 131 M8 x 60 14 M33x1.5 25 =
= 120 100 80 4
:_?ggz 136 115 100 gg 4; m2:§12 gg ig 3:13 ; ﬁ gg 198)4 1?2 1;2_15 1; g g gi 235 g HK-1036 105 142 115 125 100 48 15 25 10 65 94 150 M8 x 70 14 M42x1.5 25 N
H-1038 136 115 100 65 50 (445 38 32 71 55 73 88 104 115 1745 15 0 9 24 25 5 HK-1246 125 165 140 120 65 15 38 23 68 96 153 MBx75 15  M55x2 25 -
H-1236 155 130 100 80 65 ppuoxq5 36 36 76 64 8 98 118 114 179 15 0 40 25 4 5 HK-1246(S) 125 165 130 147 100 65 15 0 38 23 68 96 153 MBx75 15 M55x2 30 15
H-1246 155 130 100 80 65 |ys5¢» 46 36 76 64 8 98 118 114 179 15 0 40 25 4 5 HK-1552 150 185 170 165 130 70 20 37 17 73 110 164 M8x75 15 M60x2 30 L
H-1546 190 170 130 85 65 (55> 46 36 84 73 96 114 137 130 1905 22 0 475 255 35 5 HK-1875 175 215 190 190 160 95 25 46 21 84 131 181 M10x 90 20 M85 x 2 35
H-1552 190 170 130 85 70 pmoxe 52 36 84 73 96 114 137 130 1905 22 0 475 255 35 5 HK-1875(S) 175 215 190 195 160 95 25 46 21 84 131 181 M10x90 20  MB85x2 35 (D
H-1868 215 190 160 120 85 |7sxc 68 36 95 98 121 140 165 159 225 25 O 50 25 3 5
H-1870 215 190 160 120 95 |p7gxe 70 36 95 98 121 140 165 159 225 25 O 50 25 3 5 3% Size o1 02 R <
H-1875 215 190 160 120 95 |ase 75 36 95 98 121 140 165 159 205 25 0 50 25 3 5 3 Model B | B e g | R G T RE A R W S| e o
h-tazg els o L b fa Neme & fe S g8 el 18 T TR e 2 5 HK-0928 M34x1.5 25 PT1/4 30 28 89 7 28 32 65 86 63 80 43 M4x8 76 Mdx7
H-2078 240 215 180 140 110 |Mooxe 78 36 104 108 138 158 182 177 248 23 O 55 32 3 5
H-2085 240 215 180 140 110 Masxe 85 36 104 108 138 158 182 177 248 30 0 55 o5 3 5 HK-1036 M44x1.5 28 PT1/4 38 36 104 7 34 42 73 98 66 106 54 M5x8 83 M5x6
EpEE v D e T e N ) i e ) B ) e I I s 3 : HK-1246 M52x1.5 24 PT3/8 50 46 106 7 36 50 90 116 79 119 63 M6x8 98 M5x6
H-2511 310 275 230 166 140 M130x2 1175 36 101 148 178 190 232 215 290 24 1 38 15 3 6 HK-1246(S) M52x1.5 24 PT3/8 50 46 106 7 36 50 90 116 2 79 119 63 M6x8 98 M5x6
H-25115 310 275 230 166 140 M130x2 1175 36 101 148 178 190 232 215 258 24 1 38 15 3 6 HK-1552 M58x1.5 25 PT1/2 55 52 113 8 40 56 97 128 82 133 72 M6x8 110 M5x6
H-2416 340 300 260 - 190 MiB0x2 166 50 129 188 200 260 300 235 2995 35 O 65 25 15 5 HK-1875 M84x2 30 PTi/2 80 75 126 10 46 81 125 163 98 160 98 M6x8 155 M6x8
HK-1875(S) M84x2 30 PT1/2 80 75 126 10 46 81 125 163 98 160 98 M6x8 155 MBx8

cREBEEEMMER, A BTEM Subjecttotechnology changes without prior information
+ JEFE TR AIAT 4 Non-standard requirements can be made CRBEAELHER, BARSITEM Subject to technology changes without prior information
+ E T KATET# Non-standard requirements can be made




R, il &R i

J[EUMATIC AND H
YLINDER SERIES

> HK SERIES > S SERIES
i Ll 18 il L L i e ) L /L el el
e B S I T2 %/////,,jjﬂ,;fiﬂéﬂﬁ},%' ROTARY HYDRAULIC CYLINDER

l;‘.‘. l’ "": (77D 7T P T

—
SHORT TYPE ROTATING HYDRAULIC CYLINDER C EMSMIRASLGIIN R AR KE A £ RETR, BEE, e
WITH THROUGH-HOLE AND SAFETY DEVICE O BB ESTREE, EEAMNEARERSEBRASE, MEEHSE

B, BRES.

' The rotary valve and cylinder body .all made of special light alloy,

light-weight.
OMBME, RILEBEEHELT, eRESMKIMN2/3, © Through unique design,the rotary valve enables the inside bearing
O BRI IR R S SR R T e R to get sufficient lubricating and cooling and endure high-speed rotary
O REBTHEEEERE, for longer service life.

CERIEES L EEZEOREE, MBRELETE,
© The drain port should be independently connected to oil tank to avoid
back pressure.

- Super short form,light weight large Through-Hole just as 2/3 of typical
model length.
© Built-in safety check valves and pressure relief valves.

© Forward and backward choose a fixed installation.

L
1 o
6~X2 25 Q P iL2 6~L1 !- -: - /
N1\ | |
=f = - | ! =
¢ \\ X =LA _ | ! '{:: B
205 N A e N
ééj To [In2 *Eaa A8 lor & PED g _+?
- I i T T s I e -4t - T wlo O
8| -FF _ °3 | o | x|y -==l§‘| G s s v | w| o] of @ . [ 8- grst| U =1w
"g'!. - K A & %15— ) \__K
2~Q3 i —t [
> 7 M1 PREE ST S
4 9 3L ‘ / | PT1/4 / .ﬂ.}ﬁl%‘w
Pressure Port 4/ \ = 3L Drain port 2~P O
_____ | 4-Y2 12~L Aﬁ%fﬁ?LPrassure rt 6
l =\ ==1 . S =
Nl I s H G1 b i
eromaa ) 2 | c| Wl ) >
Drain Port = 0 1 | | == q
099 | Dr | K m
| _ _A[lBL 3844 Spec EZEE Eff.piston area cm’ 712 (mm) BEEEE - BAEHEH i EE()
HgEModel  4mp Extend Hifl Retract  Piston stroke ERnE MaxM%’ae(ri?gP ?c%?fsum kgem* laighy —
<t Size iEEEA  Eff.pistonareacm’ 4712 (mm) BeDim &SRR (kgffom?) tEiEsE H 2 (kg) AigE n
HlgEModel  3m{a] Extend  $u{ll Retract Pistonstroke  maxr.p.m Mpa Max.pressure kg-m® Weight Tom,'_,',‘meﬁ,kage 553 sit.0 I3 ia i 0.01 =
HK-2091 234.0 217.5 ' 3800 4.0(40 0.092 24.8 4.5 S-80 4.7 2.8 o e 3.5(35) 0.01 34
HK-2511 356-5 335.3 30 3000 3-5§35; d 38 49.5 7-0 s-100 754 705 = 5500 . 0.04 4.9
) : : : : : ’ -125 19.6 1125 ] 6.8 (op)
HK-2114 373.2 336.1 35 2500 3.5(35) 0.54 58.2 8.0 R ! 2% 2300 L o
HK-2820 526.2 472.6 51 1600 3.0(30) 2.4 134 10.0 =8 s i 50 il 4.0(40) el ik
e o g = 55 $-200 310.0 286.3 35 4000 : 0.38 20.4 b
iKolZ L
B G D F H J K 1L L1 52 M1 M2 M3
FlgEModel HED h7 max min max min lu
HK-2091 200 245 215 225 180 110 0 - 87 127 185 M12x24 M10x35 18.5 M100x2 e o
HK-2511 250 305 275 280 230 140 100 154 224 M16x32 M12X110 22.5 M130x2 $81& Spec E G M :
0 25 @K Model A B 5] D h7 F — H J K L s N 2-P
HK-2114 265 320 295 295 240 165 35 60 115 173.5247.5 M16x32 M12X120 17.5 M155x2 45 20 : max _min <
HK-2820 340 395 385 .. 320 235 51 51 141 213 305 M20x40  — -~ M220x3 45 20 S-65 65 15 98 80 60 22 45 30 74 175 M12x1.75x30 6~M8x16 - PT3/8 o
+5Size o1 o2 ozl P R s . _ 5 5-80 80 15 112 90 65 25 45 30 74 175 M16x2.0x30 6~M8x16 = PT3/8
mggModel 1 N2 g mg P 97 W7 R PRI | i) SR ) et Bl $-100 100 20 135 100 80 25 45 25 89 190 M20x2.5x35 6~M10x20 - PT3/8
HK-2091 M99x2.0 95 91 1285 15 45 96 120 138 180 110 185 108 165 $-125 125 |25 160|130 | 110" |30 50 25 96 197 M24x3.0x44 6~M12x20 - PT3/8 ;
HK-2511 M130x2.0 38 125 120 152 17 50 pT1/2 128 150 170 227 7 134 210 138 Mexio 219 vsxo $-150 150 30 190 130 110 45 55 25 105 206 M30x3.5x45 12~M12x24 31 5 PT3/8 ‘“ﬂ 5 1
HK-2114  M150x2.0 145 140 170 17 50 146 170 190 250 145 160 230 $-200 200 35 245 145 120 55 70 35 130 231 M36x4.0x60 12~M16x30 37 5 PT3/8 - ]
HK-2820 . h
MEiox2.0 82 1240, [205) 202 126 50 215 262 265360 (10 (185 300 240 =8 CREBENMELHERN, BASTIES Subject fo technology changes without prior information
cIRBEMEMMNERN, BFRSTEM Subjectto technology changes without prior information « EHEERAETHM Non-standard requirements can be made

+ EEFEFRATFTH Non-standard requirements can be made




, i1 J5X il N 971

EUMATIC AND H
YLINDER SERIES

LIC

CiMPﬂﬁ

> S—-RSERIES > SNK SERIES

(A ————y R R E R
o = [a] 6 i BRET B 1k RS ROTARY HYDRAULIC CYLINDER WITH SAFETY & R B [a) 58 B

//I%/’;/Jlfﬁlbltfllfll;//%ﬂllljl/?ﬂ/” HEHOE %/”}”é /III}I‘I/I//Z//IUII}-I%' ROTARY HYDRAULIC CYLINDER

—— —. ,

ESMRETRERARRESSNIETA, 288,
O EIEMEAY TR, ERABNBRERSNMBRSH, MERNSE

m, SRS, N
© The rotary valve and cylinder body ,all made of special light alloy, C R R RS R E BT,
light-weight. O RERFTAEIHERZ,

o Through unique design,the rotary valve enables the inside bearing
to get sufficient lubricating and cooling and endure high-speed rotary
for longer service life.

O P ERE L RE B SH RS R R R

O R IEFLERE S A BB O A, R REETE,

© The drain port should be independently connected to cil tank to avoid
back pressure.

o Built-in safety check valves and pressure relief valves.

o Forshort form ,light weight and high speed rotary cylinder.
- Can screw it from the rear end of the cylinder when mounting.

O R FLA E S o BB O AR, LR ELTE,
~ The drain port should be independently connected to oil tank to avoid
back pressure.

L:
i —
| Tp——
W A AR D.
“=r B ATFEST. N
L _ N - 5!
_.l_‘l\i | A‘L’
) s eaer T Zle Jwlo] o ~ - 3 o T = =
B: {T#&ST. e R
N
. LIt itk iy Al
*&'}15 iE 27,8 110 28
Bl Drain port 2~P . X PT1/47 T ——
— ; 4L (Drain port) TH==— =
" 0 1} ressure !D 6 e B’LI
2 PT3/8" =]
102 H G 60 5L (Pressure port) (i i L2
J J G >
Miaspec  TEEMEM Eff.piston areaom’ 1712 (mm) 7 EE oA i 1 8 (ko) 154 Spec A Eff.piston area cm” R (mm) BEDHE BxmR Bt R (kg) | ”
BsEModel  am) Extend $ifi) Retract  Pistonsiroke max r.p.m Maxi\.«cl)ipae(ﬁgp? chrgfsure kgem* Weight AZE Model #{0 Extend il Retract Piston stroke max r.p.m MeXE a(rl?_gf cﬁ,nﬁ)swm kg-m® Welght —
S-65R 31.0 27.9 15 6000 0.01 29 SNK-75 44.2 37.1 15 — 0.01 28
S-80R 47.7 42.8 15 6000 3.5(35) 0.01 3.4 SNK-100 78.5 715 20 0. 03 4.3
S-100R 75.4 70.5 20 5500 ’ 0.04 4.9 SNK-125 122.7 113.1 25 4.0(40) 0. 05 6.8
S-125R 119.6 125 25 5500 0.08 6.8 SNK-150 176. 7 160.8 30 5500 0.09 9.4 m
S-150R 173.6 1577 30 4000 0.18 1148 SNK-200 314.1 290.4 35 0. 28 153 N
S-200R 310.0 286.3 35 4000 4:0160) 0.38 20.4 SNK-250 469. 1 436.0 60 2000 5.0(50) 0. 40 452 -
315 Spec E : G M . #14& Spec E G _
M Mol A S e R e K - s N 2P wgMoss A 8 C D1oD2 & F T H O K L U L2 ™ O)
S-65R 65 15 98 80 60 22 45 30 74 175 M12x1.75x30 6~M8x16 5 PT3/8 SNK-75 75 15 107 90 65 30 45 30 57 134 M20x2 5 6~M8x16  M8x60 - <
S-80R 80 15 | 112 90 65 25 45 30 74 175 M16x2.0x30 6~M8x16 i PT3/8 SNK-100 100 20 132 115 100 80 72 149  e~M10x20 M8x75 12 Q.
S-100R 100 20 135 100 80 25 45 25 89 190 M20x2.5x35 6~M10x20 . PT3/8 SNK-125 125 25 160 140 .., .0 35 50 25 82 159 M24x3.0 g~M12x20 M8x85 25
S-125R 125 25 166 @ t30. 110 | 30 50 25 96 197 M24x3.0x44 6~M12x20 « PT3/8 SNK-150 150 30 190 170 45 55 95 172 M30x3.5 12~M12x24 M10x100 16 31
S-150R 150 30 190 130 110 45 55 25 105 206 M30x3.5x45 12~M12x24 31 5 PT3/8 SNK-200 200 35 245 220 145 120 55 70 35 115 192 M36x4.0 12~M16x30 M10x125 21 37
S-200R 200 35 || 245 145 120 55 70 35 130 231 M36x4.0x60 12~M16x30 37 5 PT3/8 SNK-250 245 60 307 275 220 160 65 85 25 165 255 M42x3.0 12~M20x35 M16x175 28 45
cREAEBENNOESN, BABITEM Subject to technology changes without prior information
v AEARFE KT AT Non-standard requirements can be made CREBHEFEREERN, 2R BITIEM Subject to technology changes without prior information

v EEBKAIFTH Non-standard requirements can be made




, i1 J5X il N 971

EUMATIC AND H
YLINDER SERIES

LIC

OMATEl

>SNK-R SERIES

1,
5720 A 2 ja) a5 I AR AF R R
/ /[;I///][’M#’I/A" OTARY HYDRAULIC CYLINDER

> S-RE SERIES
o TR R T B A

s Rmwanin e A R

© EE S B R O R,

~ For short form ,light weight and high speed rotary cylinder.

~ Can screw it from the rear end of the cylinder when mounting.
© The drain port should be independently connected to oil tank

to avoid back pressure.

© Built-in safety check valves and pressure relief valves.

o EE,

B, TR B E .

D BESCITERE, TRAEEES, THERREIERED,

e B s R R B SR R R R
P S e S INNET - REBTHERBEZ,
DR EE B EREDWEE, LBRELETE, : .
S I A E A R T S RERY » Forshort form ,high speed and stroke control.

» To ensure safe power chuck operations by conforming movement

of the piston in the cyliner.

- Built-in safety check valves and pressure relief valves.
_ Canscrew itfrom the rear end of the cylinder when mounting.

CRMAEESoEREDMER, UBREEEE.

' The drain port should be independently connected to oil tank to

avoid back pressure.

A: PRI D. 7
BiATRIST. | N
| — 5
| 6~L1 _brlgr_
- 1 H- = w| w & = o g ==
UL—_—._=\4 | O —=—=—1 37
g A = — ARELD. H —
1 rL = ¥ rRsT 7
f J 5 N E& __Hd' B:4T#2 —H+—
1
PT1/4” ZT‘XW L : S TN Wt ﬂﬂ_ w1850 O
e |
#HiMFL (Drain port) I o = _H, | |
bl Db R ) T e p—p—— [ N K
6-L1 - ! ¥
sms /- 71trr- . ——_m—yp—y=— | - — 7 | . g
# 4L (Pressure port) H2 il L2 ! PT1/4 t=
faiii L (Pressure port) | ‘ BT, / 4y PP T—". oo =y
J G ' il FL Oil drain port 5 L
I —— 10 =t
i 2~PT3/8(S-RE200:PT1/2) H2 H a —I
. ) e #5587l Pressure port I,
4% Spec EEEH Eff.piston area om R (mm) I W Zoncchul 2 I s & R (ko) B - ! I ”
B8 Model ) Extend  $ifil Retract Piston stroke maxrp.m wi}f('kg;‘?cﬁfs kg-m* Weight s
SNK-75R 44,2 37.1 15 6000 0.01 2.8
T (¥ B e meoe  EERMEtmaeort  emew  msaes BISML, mwe  amw
E , 113.1 25 4.0(40) 0.05 6.8 #U5E Model #A43] Extend #i {8 Retract Piston stroke maxr.p.m MPa(kgi/ cm’) kg-m eig
SNK-150R 176. 7 160.8 30 5500 0.09 9.4 S-75RE 43.0 37.1 15 5000 0. 01 3.4 N
SNK-200R 314.1 290.4 35 0.28 15.3 S-100RE 77.4 71.5 20 0.04 4.9 N
SNK-250R 469. 1 436.0 60 2000 5.0(50) 0. 40 45.2 S-125RE 121.6 11341 25 4.0(40) 0.05 7.4 v
S-150RE 175.6 160.8 30 5500 0.10 10.7 |
: S-200RE 313.0 290.4 35 0. 29 15.9
Ai1% Spec ; E G . o
I8 Model A B (8 Bl N E2 h7 F i [ H H1 H2 J K = L1 L2 M - . .
SNK-75R 75 15 107 90 65 WRRIINRN 30 57 42 91 145 [HEEEM 6-Moxc Mexo0 54 gﬁhﬁgde] A B € D1 D2 o = R K L L1 L2 M N <
SNK-100R 100 20 132 115 100 80 72 42 91 163 U7 6~M10x20 MBx75 12 s R T T 0 57 184 eatete MBxho o.
i 30 45 42 137
SNK-125R 125 25 160 140 130 110 35 50 25 82 41 90 172 M24x3.0 6~M12x20 M8x85 25 S-100RE 100 20 132 115 100 go 72 209 M20x2.5 6~M10x20 M8x75 12 2il 535
SNK-150R 150 30 190 170 45 5§ 95 39 89 184 M30x35 12~M12x24 M10x100 16 31 S-125RE 125 25 180 140 35 50 25 82 41 136 218 M24x30 6~M12x20 M8x85 25
SNK-200R 200 35 245 220 145 120 55 70 35 115 36 86 201 M36x4.0 12~M16x30 M10x125 21 37 S-150RE 150 30 190 170 130 110 45 55 95 39 134 230 M30x35 12~M12x24 M10x100 16 31 45
SNK-250R 245 |60 307 (278 220 160 65 (@856 |25 (165 |33 | 90 || 255 Md2x30 12~-Mamxap MIBXITS 28| 45 S-200RE 200 35 245 220 145 {20 55 70 35 115 36 132 248 M3640 12~M16x30 Mi0x125 21 37 60

cREEAEHRMEAN, BASBITIES Subjectto technology changes without prior information
- JEEZE KA RT# Non-standard requirements can be made

CRBEHELNRER, BABTEHT Subjecttotechnology changes without priorinformation
+ EEF R AT Non-standard requirements can be made




aommﬁ

> SRN SERIES

V.lgl—‘,/l{{”ll‘llf(/{llwg,l‘?l—ll HYDRAULIC ROTARY CYLINDER WITH STROKE CONTROL
é//,}//Z/ﬁ/})ﬁ;f)}/w,ﬁ)n%M;;ﬁ

O EE, BE, (TREGEDEHELT,

O RESUEERMR, TEAESS, WERREBIERED,

O RREFRI BN EHEZ

= Forshort form ,high speed and stroke control.

© Toensure safe power chuck operations by conforming
movement of the piston in the cyliner.

- Canscrew it from the rear end of the cylinder when mounting.

CRRIRER L ERERREE, UREELLE,
= The drain port should be independently connected to oil tank to
avoid back pressure.

, i B i

71

EUMATIC AND H
YLINDER SERIES

LIC

> SL SERIES
"

T a0 i
B o] 88 1 BEALL PP 30 N iX AN E i
FRBRAENE SR KRR Rl el

O, EKEIEmEE R, AT bR o O AR T A DT HEI K.
O PR IER AR R,

f: ===
— ) AZIj':H:WJD M —
A H4772ST. ||
_ L B D (&H_ _| g“‘ MEIE
i ! | N R K
PT1/4 / AL e €=
M 7L Oil drain port 28 ] N <
- 10 : Pl
2~PT3/8(SRN200:PT1/2)| 13+1(gRN-200N:1345) H G
#hihFL Pressure port r
184 Spec iHZEEM Eff.piston area cm” 58 (mm) BEENE BAEAES It B (k)
Z14% Model #{1 Extend Hi {8l Retract Piston stroke maxr.p.m Max#p:}r:;??;‘rg?sum Kg=m® Weight
SRN-75 43.0 37.1 15 Goan 0. 01 3.4
SRN-100 77.4 71.5 20 0. 04 4.9
SRN-125 121.6 113.1 25 4.0(40) 0. 05 7.4
SRN-150 175.6 160.8 30 5500 0.10 10.7
SRN-200 313.0 290.4 35 0.29 15.9
Hi#k Spec _ E G . :
3 Model A8 6B B2 e B e VH THE e J K E B L2 M N
SRN-75 75 15 107 20 65 30 57 194 6~M8x16  M8x60
SRN-100 100 20 132 115 100 gg 0 #° 72 42 13T 559 M2025 g opqox00 Mexs 12 21 35
SRN-125 125 25 160 140 55 .. 35 50 25 82 41 136 218 M24x3.0 6~M12x20 MB8x85 25 .
SRN-150 150 30 190 170 45 55 95 39 134 230 M30x35 12~M12x24 M10x100 16 31

SRN-200 200 35 245 220 145 120 55 70 35 115 36 132 248 M36x40 12~M16x30 M10x125 21 37 60

cREBETENAMER, BARSITHEHM Subject to technology changes without prior information
+ EEFE R AT Non-standard requirements can be made

- © To allow coolant to be feed from the rear end of the distributor
! through the rotating union.
© Built-in safety check valves and pressure relief valves.
CIRRILEME R L EEELHEY, MBEELETRE,
~ The drain port should be independently connected to oil tank to
avoid back pressure.
- T i
I
I 6~L1 L2
1
| 3 =
! g T_'.—_'.-_'.-_‘.-_'.‘;‘I::f
o o) y
AR®ED L
A BLDM pT1/4 . )
B:{TEST. e
125 Goolantport\ T— T‘ o
- e o -
°°| R jl— J Cgrsle e alaf©
\—l——Q-L
Ll | T o)
pTis | ' =
W7k f|, Coolant drain port 20 H1 N g
5 i
PT1/4 75 10 N— >
#131191, Oil drain port H G
S J —
A~PT3/8(SL-200:PT1/2) I ”
|
# 4L Pressure port
148 Spec iEEEM Eff pistonareacm’ 4572 (mm BEENE BREARN FEAKERE A A ) (koflem®)  qmpegs B B (k)
23§ Model S el (R EaaE] | Memee || DRRLED MR o esre || MpRCRREE cestion | | iy Weight
SL-75 426 37.1 15 0.01 3.1 (@) ]
SL-100 77.0 71.5 20 6000 0.04 4.6 N
SL-125 121.2 113.1 25 4.0(40) 3.5(35) 0.06 7.1 =
SL-130 175.2 160.8 30 0.10 9.7 Lu
5500
SL-200 312.5 290.4 35 0.30 15.6 (D
#1#& Spec ; E G M
mmmese A B € D1 D2 5 max min W H1 HZ g K L L1 L2 pg N &
SL-75 75 15 107 90 65 i 30 57 & fay 194 L 6~M8x16  MB8x60 -
SL-100 100 20 132 115 100 80 °° 72 209 2 g-Miox20 Mex75s 12 21
SL-125 125 25 160 140 .0 ..o 35 50 25 g2 41 136 218 M24x30 6~M12x20 MB8x85 25 42 .
SL-150 150 30 190 170 45 55 95 39 134 230 M30x35 12~M12x24 M10x100 16 31 ﬂ ;|
SL-200 200 35 245 220 145 120 55 70 35 115 36 132 248 M36x4.0 12~M16x30 M10x125 21 37 60 \ ]

cIREEHERMERN, AR BTEM Subject o technology changes without prior information
+ JEIETRATET# Non-standard requirements can be made

:




A

OM/ UG
> SLA SERIES

O EE, TRAEEmBA TEHEROBETFHRETA,

O REFTHEBERZ.

D NEFELIEME A HEEEREERER

CERR, BRANMEBNH®E.

= To allow compressed air to be feed from the rear end of the
distributor through the rotating union.

© Can screw it from the rear end of the cylinder when mounting.

© When used, allittle oil mist should be contained.
© Built-in safety check valves and pressure relief valves.

> SLN SERIES
e i e
/////'///"/I]/J/'///” LB 3

ROTATING HYDRAULIC CYLINDER WITHAIR
CONNECTION

ROTARY HYDRAULIC CYLINDER WITH COOLANT
.| CONNECTION

PN RIP AR

R //;’ _

O TE B K B [0 55 0 R T, BT AT e 7 0 O B4R AR DAk .

O REERTFREREEZ .

© To allow coolant to be feed from the rear end of the distributor through
the rotating union.

- Can screw it from the rear end of the cylinder when mounting.

CRMALEEECERERHEE, MBREETRE,

© The drain port should be independently connected to oil tank to avoid

back pressure.

o L2
; 6~L1 _,I_l,_
{:iiiiiifi - 6~L1 L?“
AR {ELD. _
PTi/4 FTW BT | 8 i et
717k 41, Coolant port # ﬁ_ = A fELD — 1
: _'J — s |w| 8l 8]0 PT1/4 B471ST .
go:l 0|, J-J T 1AL Air port +n —H -
r 1 o |=f=" HER R —] i \i _|;:_ | ;I-LL w 8 5 @]
T = fee) —
1 |
~ %_/2”;’/ | 2 = ml PR ‘J\ N NK
M7k L, Coolant drain port il . N 1 i W 1
5 L PT1/4 —
PT1/4 _— 19 N " O'Id'—_/ ’{7' 28 |
#4111 Oil drain port 28, H G 31, Oil drain port k=t i
J 2~PT3/8(SLA-200: PT1/2) (0o 14 N
#5941 Pressure port : s L
2~PT3/8 (SLN-200: PT1/2) J
#5 i 4L Pressure port
= . B . ; _ ¢ . : 5 piston i [P AES TSR R ] LE
#feSpec MMM Effpistonareacm’  zge (mm) BEEHE B AR S K A ik A ) (kgfiem®) e B8 #77& Spec EEMEE Effpistonareacm’ sz oy BRENE e E e Al i i s :
H§EModel g Exiond M Retract  Pistonstoke  maxr.p.m e e | g’ e WHEMOdel jpExiend i Rewact PRonstoke  maxrpm  MPRSRRREmSSUe - ba t oo ey kem’ e
SLN-75 42,6 37.1 15 0.01 3.0 SLA-75 42.6 37.1 15 0.01 3.0
SLN-100 77.0 71.5 20 6000 0. 04 4.5 SLA-100 77.0 71.5 20 6000 0. 04 45
SLN-125 1212 131 25 4.0(40) 3.5(35) 0.05 70 SLA-125 121.2 113.1 25 4.0(40) 0.8(8) 0.06 7.0
SLN-150 175.2 160.8 30 0.10 9.6 SLA-150 175.2 160.8 30 — 0.10 9.6
SLN-200 312.5 290.4 35 5500 0. 29 15.5 SLA-200 3125 290.4 35 0. 29 15.5
124 Spec E G M #4% Spec E G M
3 Model A B e bl D2 h7 E 57 H J K L L1 (2 H8 N EE Model A B SCH SR SDZ B E AT iR H J K 5 151 E2 H8 N
SLN-75 75 15 107 90 65 30 57 180 6~MBx16  MBx60 SLA-T5 75 15 107 90 65 30 57 166 6~M8x16 M8x60
30 45 :
SLN-100 100 20 132 115 100 80 390 45 72 15 M2O2S5 o voxoo  mexzs 12 2 3O SLA-100 100 20 132 115 100 80 72 181 M5 gioxe0  wmexs 12 2T 38
SLN-125 125 25 160 140 ... 419 35 50 25 82 205 M24x3.0  6~M12x20  MB8x85 25 s SLA-125 125 25 160 140 ... .. 35 50 25 B2 191  M2430  G-MI220 MBS 25 .o
SLN-150 150 30 190 170 45 | 55 95 218 M30x3.5 12~M12x24 M10x100 16 31 SLA-150 150 30 190 170 45 55 95 204 M30x3.5  12~M12x24  M10x100 16 31
SLN-200 200 35 245 220 145 120 55 70 35 115 240 M36x4.0 12~M16x30 M10x125 21 37 60 SLA-200 200 35 245 220 145 120 55 70 35 115 225 M36x4.0 12~M16x30 M10x125 21 37 60

REBEHEAENNET, BRBTEY
+ AEAFEFE KT 3T Non-standard requirements can be made

Subject to technology changes without prior information

cREHEFENMETR, 2BAFB{TEA Subjecttotechnology changes without priorinformation
© AFEEKAEI# Non-standard requirements can be made

I31LVINO



> SLAN SERIES

OB, FRBEEhE ERERORETFHREER
O RERAHERHEEZ,

= To allow compressed air to be feed from the rear end of the

CONNECTION

distributor through the rotating union.

fERRF, BRANMEMNEE.

' When used, a little oil mist should be contained.

ROTATING HYDRAULIC CYLINDER WITHAIR

- Canscrew it from the rear end of the cylinder when mounting.

> SLANE SERIES
p

[T ——————
ﬁf)h);;,/'i;;;;'}‘,*/,;}/}/bﬁ/’)‘/’;;i‘/}fl//‘

A

COMPACT STYLE HYDRAULIC CYLINDER WITH
AIR CONNECTION AND SAFETY DEVICE

OB, EERSRTREEHBL, TEhAZBEONEFHRHETRNE

pressure.
“When used, a little oil mist should be contained.

=

WEFE B RS, B RITIRE SR RN,

D RERTREWREEE

O ttMFLE B LB R EE, DB RELEEE,

O EREE, HREANMENRE.

o Forshortform, lightc weight and high speed rotary cylinder. To allow
compressed air to be feed from the rear end of the distributor through
the rotating union.

© Built-=in safety check valves, pressure relief valves and proximity sensor.

= Can screw it from the rear end of the cylinder when mounting.

“'The drain port should be independently connected to oil tank to avoid back

6~L1 L2
1 :-:‘.-:‘.-:-e:‘.-:e:F- -
A:{E1.D. —
PT1/4 B:{TRST. 8
—
T o || 1
1B Nl =
o | |||E_ILLLUDDO
R | I lN
= ™ K
_— ::r“ u :I I
PT1/4 I/ | —
ik 7L, Oil drain port K2y L 28 b
5 L
2~PT3/8(SLA-200: PT1/2) - Ll [t
#4iliL Pressure port : H G
J
1% Spec iEZE T Eff.piston areacm® 58 (mm) B EE - EmEREH EREBREEAEA @it BE
2% Mode| {8 Extend  #iffl Retract Pistonstroke maxr.p.m Mp“ie'\;?f’é}ﬂ'*?“m I\?!dapzrﬁ'g;:ur}r;?fgg‘gmz) kg:m’® W(:igg)ht
SLAN-75 42.6 37.1 15 0.01 3.0
SLAN-100 77.0 ils 20 6000 0.04 45
SLAN-125 121.2 1454 25 4.0(40) 0.8(8) 0.06 7.0
SLAN-150 17572 160.8 30 . 0.10 9.6
SLAN-200 312.5 290.4 35 0.29 15.5
#1% Spec T ; E G M
pwmss A B C D1 D2 i J K L L1 L2 fhe M
SLAN-75 75 15 107 90 65 30 57 166 6~M8x16 M8X60
30 45
SLAN-100 100 20 132 115 100 80 72 181 M20:2.5 6~M10x20 wexrs 12 21 38
SLAN-125 125 25 160 140 ... . . 35 50 25 82 191 M24x3.0  6~M12x20  M8x85 25 .
SLAN-150 150 30 190 170 45 55 95 204  M30x35  12~M12x24 M10x100 16 31
SLAN-200 200 35 245 220 145 120 55 70 35 115 225  M36x40  12~M16x30 M10x125 21 37 60

CRBEMEMLORER, BRABTHEA Subjectto technology changes without prior information

« EEEKF R Non-standard requirements can be made

2-PT3/8 e P e
HimfL A, B , T H
Pressure port = y H
5 — U — AT 38 K
S— i
A ! B o7
- B _ A:Eﬂ'fQID B r:_ i ‘ = o m o o
B:arST _ LI ] % % % % ®
€
Ry L 15| 8|\ s
ORIR-P
Dr, i
% %) o (M i
PT1/8 MR AL ‘ﬁ’l——-h=
PT1/4 3L 95° Adr drain port
Air input port H L1 ;l_
PT1/4 #RimL
0il drain port G
FEEEBEEN EEmERA - ERBESERER :
Eitk Eff piston Eff piston I_ﬁ-?& '(m'rT() ﬁf?ﬁ Max.ﬂopefax Eﬁg?g%r;gssure i m;’;i‘;“ﬁ’g F-ﬁ 5 wfiﬁw
i st Xr.p.m . 2 . pr LITe =M -
ol T 1 .
SLAN-E110 91.2 87.9 20 6000 4.0(40) 0.8(8) 0.02 6.9
SLAN-E120 109.3 106 21 6000 4.0(40) 0.8(8) 0.02 8.8
SLAN-E130 128.9 T23.1 30 6000 4.0(40) 0.8(8) 0.03 9.1
25 A B Ch7 D E F Gmax Gmin H J K L L1 MH8 N p
Model
SLAN-E110 110 20 145 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 38 S20
SLAN-E120 120 210168 45 42| 29 60 39 69.5 148 M20x2.5 6~M10x75 17 22 38 S20
SLAN-E130 130 30 168 150 50 33 60 30 795 158 M24x3.0 6~M10x85 17 27 43 S24

cREBEHERMNBER, WA S1TEM Subject to technology changes without prior information

« AEE @R AT 4 Non-standard requirements can be made

I31LVINO



O ATEl

> SLANE SERIES

RREAn R
////’F///‘/‘/'r}}}})f)})}/f}/?/)}/]///}}]}}j/}//'/’//}z " AIR CONNECTION AND SAFETY DEVICE
\ /=

i

COMPACT STYLE HYDRAULIC CYLINDER WITH

RS, EREAREIREIEHRET, FAARRENEFHRAS
F, FAlBESERTIXER

T Cylinder A CylinderB  6~M12x1.75x24
CREMI-E A EBE, tEEARITEERIEERE., Dl | X P i i /
O RERFTABKERZ, | ! iy s o Mazis |
Ot FLER R s B R R O B, B REETE, , -
ClERREF, BARAMEBNRE. i | . 8 ] = ol o
© Forshort form, light weight and high speed rotary cylinder. To A B, Dr 81-_ L - B =
allow compressed air to be feed from the rear end of the distributor PT1/4 ! o=
through the rotating union, suitable for vertical lathe. i % 1, Drain port 040'5 LF:'*'
© Built-in safety check valves, pressure relief valves and proximity sensor. 1 2-PT3/8, 5 c E
©Canscrew it from the rear end of the cylinder when mounting. 50 4 i 7. Pressure port o c
©'The drain port should be independently connected to oil tank to _
avoid back pressure. BE@ME Eff.piston areacm’ BREREN EE
& ; . : M 4& Spec. 772 (mm) B o : B :
When used, a little oil mist should be contained. FU%E Model ﬁm Ex:egd ﬁ;ﬁl He"a;' e max r.p.m MWM%R:}ES??C??SUE kgem® \.'(Vilgtiat
- 2 0.14 11.3
6-L1 L2 SRB-1e0 122.7 126.1 116.1 11341 ; 5000 3.0(30)
= SRD-125 25 0.15 11.5
m m = s ] stk size E =
_____ = A B & D
F‘J,'L' = i F- 5_11 K VSR Model max min. max min
2-PT3/8 = =
i g . : SRD-120 130 195 137 227 60 40 35 15
Pressure port E — - — SRD-125 147 237 55 30 10
/é é& pmsn =M _ 1| = 8 = > SRD_N
QFI @ NI == IR § 855 % SERIES
| R ) e A s (o il ke R e (@)
1, i m //;ﬂ,'—l /I,;A; CJ ;;,E_.-/: //“f / [
. o [T ek ' I///Il"l/llllll hbirredbeds 4. : | g
' A Pl atntion \ & 4
S l__ ‘_1_|
iz DOUBLE ROD ROTATING CYLINDER A B | Dr >
PT1/4 GERAL
Air input port PTI/8 HSIL 0 RE, BE, SR DEhERE, BiaTA Cylinder B 6-M12x1.75x24 —I
flpsdrainppont H G © For short form, light weight, double rod rotary cylinder. 2= { /
PT1/4 fihaL i CRMAREBELEBZLMEE, MBEEEBE, IE' 4215 | I ”
0il drain port © The drain port should be independently connected |"§5“ M20x2.5 —
to oil tank to avoid back pressure. = i/ 2 ol o
-r8 - -8 9 E R
m]-_ I o . o & ol 3 =
AEEHEE  EEEREE s o -
ik “Eft.piston Eif. piston 12 (mm)  EEEEE g‘p’;‘m’%ﬂsm Maffﬁfﬁgﬁiﬁ? i3 wfigl-m - AIES
Model area cm2 area cm’ Piston stroke ~ maxr.p.m . 5 P em?y  kgem #3437, Dranport |4 28 L=5-+»— n
Extend Retract MPa(kgf / cm®) Max.pressure (kgf/cm’) (kg) #3397, Drain port / i} 1= o™
2-PT3/8 77 C F
SLAN-E150 174.4 160.8 30 5500 4.0(40) 0.8(8) 0.06 14.9 # 313, Pressure port 5 - -
SLAN-E200K 292.4 274.9 35 4000 4.0(40) 0.8(8) 0.19 29.1 Lu
SLAN-E200L  292.4 265.4 50 4000 5.0(50) 0.8(8) 0.21 30.4 mipapes — CEAK EMplstonateacm’ | pmows |, DAEARS i 22 0]
SLAN-E250  465.2 438.2 60 2000 5.0(50) 0.8(8) 043 472 Hg Moder I Extend  Hfll Retract  pigion stroke MaxREN, | g R TS kgem* Lk
A B 7 8 MPa(kgf / cm®) (¢} <
e Alle e ooz & E L2 2 E | g K L L1 i Mot e | B SRD-120N 20 Lt il
p : : 122.7 126.1 116.1 11341 5000 3.0(30
Model h7 max min H8 SRD-125N 25 ( ) 0.15 11.4 m
SLAN-E150 150 30 205 180 130 110 45 60 30 99 1775 M30x35 M12x24  M12x105 185 31 10 50 12.5 114 T = 7
WA Size
SLAN-E200K 195 35 257 225 145 120 55 73 38 120 239 M36x40 M16x30 M16x130 27 37 12 65 15 150 IS Model A 8 Z o —_— — — — :
SLAN-E200L 195 50 257 225 170 125 65 80 30 135 254 M42x30 M16x30 M16x145 27 45 12 65 15 150 SRD-120N 130 105 137 215 60 40 35 15 “-M 3
SLAN-E250 245 60 307 275 220 160 65 85 25 165 280 M42x30 M20x35 M BxA7 50 N 280 R BN F20 S50 B AN M50 SRD-125N 147 224 55 30 10 S/

> SRD SERIES

e e
W)}%}ﬁ;’rjﬂ/[’;ﬁﬂﬁ}y;ﬁ;’,}ﬂ%y

DOUBLEROD ROTATING CYLINDER WITH SAFELY DEVICE

R, il &R i

J[EUMATIC AND H
YLINDER SERIES

D EE, B, SNREENHEL,

O MEE LR B SRR B R R

' Forshort form, light weight, double rod rotary cylinder.

) Built-in saferty check valves and pressure relief valves.

DR mA RSB ERELDHEE, UBREETE,

© The drain port should be independently connected
to oil tank to avoid back pressure.

71

LIC

REEHFELMMF, MRS TED Subject to technology changes without prior information

c RBHEMELMWER, MARB4TIEM Subject to technology changes without prior information
EFEFBE R ATET 8 Non-standard requirements can be made

- JEEZF KA AT Non-standard requirements can be made




R, il JER i

J[EUMATIC AND H
YLINDER SERIES

OMATE]

> RQ SERIES > RQ-B SERIES

’Wllc/% SINGLE ROD PISTON THROUGH HOLE ROTATING W{{;%

DOUBLE ROD PISTON THROUGH HOLE ROTATING
AIR CYLINDER

it " AIRCYLINDER Gt

KEFLFEE, BILET, AMIREMESTMG. KIEFLEET, $FERG, HARNMXIE, BILEFAUTMI R

‘ S, s R J—— = EE
EE, BWE, WREHER, &EEESRNHEERTL, :
Pipbinie RS ' EEN, WED, BRENHET, RS RN EERT,
7o B AT A s, B
S — - 4 TR [SESFED o
g siaiiirreny i e O WBBHARERAORE, ENTE, ARG,
i sk o O BKBATREEATREH.
| AR E AR, R ARE S,

» Large through hole for long workpiece turning. o Large through hole for long workpiece working,and double piston
Light weight and high rotating speed, special designed valve which design,the pull force doubled.
economize air Consumption, the costis saved. nght WEIght and hlgh rotating Speed, Special designed valve which
economize air consumption, the costis saved.
The components of cylinderis imported and high quality, equilibrium
running and long service life.
For special large through hole can be customized according to your
requirements.

The components of cylinder is imported and high quality, equilibrium
running and long service life.

For special large through hole can be customized according to your
requirements.

During using, a little oil mist should be contained. - , © During using, a little oil mist should be contained.
3
G2, 73 H G1
M3 N I
=f J Al
u;_lu 150 L
L w o x|+|x| O i Llwl oo
o x| - & o) w o = -
T 2 e
i M1
E M1 R [ch | |
[ : 15 SHaL
A 2-PT1/4
‘R == e o o
12 24 5 41.5 H G1™ M3
! 1

4% Spec. EEEM Effpistonareacm’ =z (mm)  EEEEE Maxgpjacrﬁi?;%rfssme AR Skgf (KN ) 0t 4 E# (k) #ith Spec. EEMEM Effpistonareacm’ 52 (mm) mEEMHE Maxgp;:gi?;%rzssure wAMER Skgf (KN) it V\;iéiglht

RSE Model  smp Extond il Retract  Piston stroke MaxR.P.M MPa(kgf/cm’) #30 Push £33 Pull kg=m Weight 2% Model smmy Eytend #ifl Retract Fistonstroke MaxR.P.M MPa(kgf/ cm’) #3) Push £33 Pull kg«m (kg )
RQ-130 116.8 116.8 15 5000 0.8(8) 933(9.14) 933(9.14) 0.04 8.4 RQ-130B 223.03 219.3 15 5000 0.8(8) 1784.24(17.5) 1754.4(17.2) 0.04 12
RQ-150 153 143.5 15 4500 0.8(8) 1224(12) 1148(11.25) 0.06 9.5 RQ-150B 291.19 281.76 15 4500 0.8(8) 2329(22.83) 2254.1(22.09) 0.06 10.3
RQ-170 198.7 188.5 15 4500 0.8(8) 1589.6(15.58)  1508(14.78) 0.09 11.6 RQ-170B  381.52 371.3 15 4500 0.8(8) 3052.1(29.91) 2970.4(29.11)  0.09 12.5

184 Spec. i F2 G1 G2 8 4& Spec. E G1 G2

A B D F1 H [£

25K Model (h7) (h7) max min max min gk Model A & 2 (h7) H Ee max min max min H :
RQ-130 130 160 143 110 45 36.5 15 0 35 20 60 25 RQ-130B 130 160 143 110 50 36.5 15 0 38 23 105 25
RQ-150 150 180 163 110 65 50 15 0 35 20 63 25 RQ-150B 150 180 163 110 65 50 15 0 35 20 105 25
RQ-170 170 200 182 110 65 50 15 0 35 20 63 o5 RQ-170B 170 200 182 110 65 50 15 0 34 19 107 25

##% Spec. o] #0145 Spec. o}

A%E Model M1 M2 M3 H7 N R T U X A E Model M1 M2 M3 H7 N R T U X
RQ-130 M38x1.5 M44x1.5 6-M8x65 34 M5x10 42 74 104 20 RQ-130B M38x1.5 M44x1.5 6-M8x115 34 M5x10 42 74 104 90
RQ-150 M55x2 M52x1.5 6-M8x70 46 M6x10 50 86 123 110 RQ-150B M55x2 M52x1.5 6-M8x115 46 M6x10 50 86 123 110
RQ-170 M55x2 M52x1.5 6-M8x70 46 M6x10 50 86 123 110 RQ-170B  M55x2 M52x1.5 6-M8x120 46 M6x10 50 86 123 110
RREHFLHER, BABITEM Subject to technology changes without prior information REBHMELMMF, BASTiEH Subject to technology changes without prior information

FEIEFB R AT Non-standard requirements can be made JEFEFE KA T Non-standard requirements can be made

71

LIC

I31LVINO

N~
o
L
O
<
o




, i1 J5X il N 971

J[EUMATIC AND H LIC

YLINDER SERIES

OMATE

> RA SERIES >RA B SERIES
o, gy
xR LG T

/ /]//fy i, ,,‘j,' / SINGLE ROD PISTON ROTATING AIR CYLINDER =/ / ' DOUBLE ROD PISTON ROTATING AIR CYLINDER

D EEERE, RAEmKIE.

EEE, SR, EETY, DERREERSRESSRIEMAA,
AMEREERAEORG, S56, KERE

O ERAREENMERE

D ARBEARRE.

O EHMEERRRRE, EEBREERAEEENRE, RARESHY
KT o
FHHREEESHIEMA, ABEMERAEODRYE, EEEEY,
EHFHE, 556, KER.

C EAREEAMERS.

© ARMEAEREN. o Light weight and high rotating speed, special designed valve which

' The rotary valve and cylinder body, all made of special light alloy, ~ sconomize air Consumpt'of" Fhe costis savgd. ; —_
. . ' The components of cylinder is imported and high quality, equilibrium
are light—-weight. ” . .
running and long service life.

© Through unique design, the rotary valve can considerably reduce ; . .
. . ) . ) ) e © For special large through hole can be customized according to your
the waste in compressing air and efficiently increase its utilization.

requirements.
© During using, a little oil mist should be contained.

r

A:ELD. L

{"_ -5__
+ 'E:LLLUDUED

\
)

et

TS s ==\ W T 1 AT
i e | AN
13/13 15|_36.5 \l: IS O
~——— 2~PT1/4 | N
Pressure port 5 s
60
g 2-PT1/4 >
95 H G HmETL q
P J w0 ’ A _l
J I I I
|
31 #& Spec. TEE@M Eff pistonareacm’ 4732 (mm)  BEEEE Max%zce{lztﬁtﬁ”jréssure ﬁﬁ_g & (kg) ZEHRAIEE(ml/sec)
* i 2 3 5
AI5F Model M Extend Hifil Retract Piston stroke Max R.P.M MPa(kgf / cm’) kgsm Weight ({5 B2 H6kgf/cm®) ggap?_] EEER Eff.plswn. areacm ﬁ_ﬁ (mm) SEEEE Max.gpjérgi'}n%%gssure . V?eigﬂ
RA-100 77.0 74.4 15 6000 0.8(8) 0.03 45 400 adel | MMl Extend | MW Retraot || Fistanslicke  MaxH.F.M MPa(kgf / cm?) (kg)
RA-130 il 124.7 15 5000 0.8(8) 0.05 5.2 400 RA-1308 251.2 247.9 12 4000 0.8(8) 5"6" 8 (o))
RA-170 225.4 219.0 20 5000 0.8(8) 0.18 8.5 400 RA-160B 380.8 369.7 25 4000 0.8(8) 6" 8" 12 o™
RA-220 378.6 369.3 25 4000 0.8(8) 0.36 14.5 400 RA-2008B 606.8 595.8 30 3500 0.8(8) 10" 17 —
RA-270 571.0 562.9 30 3000 0.8(8) 0.75 18.4 400 RA-250B 960 949 35 3000 0.8(8) 128 16 LIJ
#i% Spec. E G ; M .
28 Model A = L L (h7) e f ks - (H8) o R ##% Spec. E G ' <
Bk Model A B c D (w7) F : H J K L M N n
RA-100 100 130 = 80 60 22 50 35 65 160 M12x1.75 6-M8x16 13 25 3" max min
RA-130 130 160 120 90 65 25 45 30 70 165 Mi6x2.0 6-M8xi6 17 30 4" 5" RA-130B 130 12 160 90 65 25 a7 15 113 221  M16x25 6-M10x20 100
RA-170 170 200 140 100 80 25 45 25 85 180 M16x2.0 6-M10x18 17 30 6" RA-160B 160 25 195 {25 100 40 40 15 135 243  M20x35 6-M10x20 160 5 .
RA-220 220 255 170 130 110 30 50 25 91 186 M20x2.5 6-M12x20 21 35  8"10" RA-200B 200 30 232 160 125 40 44 14 147 255  M20x35 6-M12x20 192 6 ‘“M 5 1
RA-270 270 305 190 130 110 35 55 25 105 200 M24x3.0 6-M12x20 25 40 12" RA-2508B 250 35 285 200 160 40 42 i 158 266 M20x35 12-M12x20 235 10 f

REBRAELMHFR, WASITEM Subject to technology changes without prior information

REBEAELNERN, MASITIEM Subject to technology changes without prior information
EEE RAETH Non-standard requirements can be made

JEHEF K AETH Non-standard requirements can be made






